CHEMISTRY

BOOKS - PEARSON IIT JEE
FOUNDATION

LANGUAGE OF CHEMISTRY AND
CHANGES AROUND US



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Distinguish between the following pairs .
Justify.

30, and 203,30 and Oj;

o Watch Video Solution

2. The formula of a compound of a metal with
oxygen is written as MO and that of another
metal is written as M,0O .Give reason. What
are the formulae of the compounds of the

above metals with chlorine ?

| & I


https://dl.doubtnut.com/l/_NxjV0cycyc2b
https://dl.doubtnut.com/l/_MjrtJUr7qdju

| ¥ Watch Video Solution |

3. Find of the total number of atoms in the
following :

(@) 1 molecule of aluminium sulphate

(b) 1 molecule of potassium phosphate

(c) 1 molecule of magnesium nitride

o Watch Video Solution

4. A few chemical changes are given below .

Write the formulae of the substances involved


https://dl.doubtnut.com/l/_MjrtJUr7qdju
https://dl.doubtnut.com/l/_EtvMVoXO7SPg
https://dl.doubtnut.com/l/_kqDbrz5amAWE

| those changes.

(a) Baking soda on strong heating produces
sodium carbonate , carbon dioxide and water
vapour.

(b) Marble on heating gives calcium oxide and
carbon dioxide.

( C ) Rust (iron oxide ) is formed when iron

reacts with oxygen in the atmospheric air.

° Watch Video Solution



https://dl.doubtnut.com/l/_kqDbrz5amAWE

5. Distinguish between the following pairs .
Justify.

305, and 203,30 and Oj;

o Watch Video Solution

6. The formula of a compound of a metal with
oxygen is written as MO and that of another
metal is written as M,0O .Give reason. What
are the formulae of the compounds of the

above metals with chlorine ?

| & I


https://dl.doubtnut.com/l/_z84mytWfu8QK
https://dl.doubtnut.com/l/_ehy2dMl11ftZ

| ¥ Watch Video Solution |

7. Find of the total number of atoms in the
following :

(@) 1 molecule of aluminium sulphate

(b) 1 molecule of potassium phosphate

(c) 1 molecule of magnesium nitride

o Watch Video Solution

8. A few chemical changes are given below .

Write the formulae of the substances involved


https://dl.doubtnut.com/l/_ehy2dMl11ftZ
https://dl.doubtnut.com/l/_2RQWNBqj22nw
https://dl.doubtnut.com/l/_qaOKNmyEAi61

| those changes.

(a) Baking soda on strong heating produces
sodium carbonate , carbon dioxide and water
vapour.

(b) Marble on heating gives calcium oxide and
carbon dioxide.

( C ) Rust (iron oxide ) is formed when iron

reacts with oxygen in the atmospheric air.

° Watch Video Solution

Very Short Answer Type Questions



https://dl.doubtnut.com/l/_qaOKNmyEAi61
https://dl.doubtnut.com/l/_cxXAA4RQJyMM

1. the symbol of magnesium is

° Watch Video Solution

2. the smallest particle of an element is called

o Watch Video Solution

3. Atoms of (or) can be regarded

as molecules.

| €8 l


https://dl.doubtnut.com/l/_cxXAA4RQJyMM
https://dl.doubtnut.com/l/_QCe07qqBO5wN
https://dl.doubtnut.com/l/_GAHZDiOmzC4C

L ' Watch Video Solution J

4. The number of atoms in one molecule of

oxygen is

o Watch Video Solution

5. Three atoms of chlorine are represented as

O Watch Video Solution



https://dl.doubtnut.com/l/_GAHZDiOmzC4C
https://dl.doubtnut.com/l/_W5WXjQigTRy1
https://dl.doubtnut.com/l/_1zwVHn6GmK2a

6. Formula for hydrochloric acid is

o Watch Video Solution

7. The number of oxygen atoms in one

molecule of sulphur trioxide is

o Watch Video Solution

8. The Latin name of potassium is

o Watch Video Solution



https://dl.doubtnut.com/l/_ORG7CvWE6Vhd
https://dl.doubtnut.com/l/_AGdgw7LAsPOO
https://dl.doubtnut.com/l/_gqsZy31RD9hD

9.the symbol of manganese is

A. Mn

B.M

C. Ma

D. Mg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gqsZy31RD9hD
https://dl.doubtnut.com/l/_xLANoYA5lOik
https://dl.doubtnut.com/l/_ifjLX1ORmf2n

10. The symbol of which among the following

elements is derived from it s Latin name ?

A.Zinc

B. Aluminium

C.lron

D. Calcium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ifjLX1ORmf2n

11. One molecule of which among the following

elements possesses the maximum number of

atoms?

A. Ozone

B. Sulphur

C. Chlorine

D. Nitrogen

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QB7fxQAyBpny

12. Which among the following molecules

possesses the maximum number of oxygen

atoms?

A. Carbon dioxide

B. Nitric acid

C. Sulphuric acid

D. Calcium oxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oIJTG83LOWhz

13. which among the following contains

atoms of oxygen ?

A. 6 molecules of calcium oxide

B. 6 molecules of water

C. 3 molecules of sodium bicarbonate

D. 4 molecules of calcium carbonate

Answer: D

12

o Watch Video Solution



https://dl.doubtnut.com/l/_Vts2JOdpehJy
https://dl.doubtnut.com/l/_ht27njL8yNuN

14. |dentify the incorrect formula among the

following .

B. ZnO

C.CaO

D. SO;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ht27njL8yNuN

15. the Latin name of silver is

A. Aurum

B. Argentum

C. Stannum

D. Plumbum

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K0QcQTTsUbLd

16. A change which can be reversed is called

o Watch Video Solution

17. Swinging of clock pendulum is a

change.

o Watch Video Solution



https://dl.doubtnut.com/l/_yJ37YSVxjOrS
https://dl.doubtnut.com/l/_BjqP7mV1aSuU

18. Rusting of iron is a change .(periodic

, hon- periodic, desirable)

o Watch Video Solution

19. Magnetization of iron is a change .

(physical chemical).

o Watch Video Solution



https://dl.doubtnut.com/l/_vXwiStkIM7Kq
https://dl.doubtnut.com/l/_bOZu3BJuE5a1

20. Burning of coal is a change.

(physical, chemical)

o Watch Video Solution

21. Identify a chemical change among the

following.

A. Production of sound

B. Magnetization of iron


https://dl.doubtnut.com/l/_5RijKkWwUEL1
https://dl.doubtnut.com/l/_B7JVzGHd6rDb

Answer: C

o Watch Video Solution

22. An example of non-perodic change is

A. Change of fast

B. chemical show

C. Beating of heart

D. Earthquakes


https://dl.doubtnut.com/l/_B7JVzGHd6rDb
https://dl.doubtnut.com/l/_ZCHyudaxOCxf

Answer: D

o Watch Video Solution

23. Bursting of cracker is a and

change,

A. Chemical fast

B. chemical slow

C. physical fast

D. physical slow


https://dl.doubtnut.com/l/_ZCHyudaxOCxf
https://dl.doubtnut.com/l/_QqMuyveW9au2

Answer: A

o Watch Video Solution

24.The burning of candle is a change.

A. Perioic and irreversible

B. Reversible and chemical

C. Non-periodic and reversible

D. Chemical and irreversible

Answer: D


https://dl.doubtnut.com/l/_QqMuyveW9au2
https://dl.doubtnut.com/l/_qc3EUeXYouKm

° Watch Video Solution

25. Identify a true statement among the

following.

A.In a physical change composition

changes.

B. Chemical change can easily be reversec.

C. physical change is a temporary change

D.In a chemical change no new substance

(s) is / are formed.


https://dl.doubtnut.com/l/_qc3EUeXYouKm
https://dl.doubtnut.com/l/_stDx2pVwCUA3

Answer: C

o Watch Video Solution

Short Answer Type Questions

1. Define the following: Atom, Molecule ,

Symbol, Formula

o Watch Video Solution



https://dl.doubtnut.com/l/_stDx2pVwCUA3
https://dl.doubtnut.com/l/_GUnrSGpTonMp

2. Write the formulae for the following

A. Ozone

B. Phosphorus

C. Neon

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wbytw8bhzlZa

3. Write the names of the elements with the

following symbols.

A. Fe

B.Zn

C. Al

D.C

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DGJarwaIavEw
https://dl.doubtnut.com/l/_HbR64tTug2e2

4. Represent the following in terms of their

formulae.

A. 5 atom of sodium

B. 3 molecules of oxygen

C. 4 molecules of hydrochloric acid

D. 10 molecules of carbon monoxide

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HbR64tTug2e2

5. Molecules of some elements and
compounds are given below Identify hydrogen
,hydrogen chloride water , carbon, dioxide ,

carbon disulphide, carbon tetrachloride.

o Watch Video Solution



https://dl.doubtnut.com/l/_tivgHoLIiemP

6. Write the formulae of different compounds

formed among the given elements

- ,.Cbb'ining ‘power

o Watch Video Solution

7. Identify the combining power of the

elements present in the following compounds


https://dl.doubtnut.com/l/_88ZL0ueu1pWD
https://dl.doubtnut.com/l/_NoHLc5hdCGhn

A A,B

B. X,Y;

C. DE,

D. G5 H,

Answer:

o Watch Video Solution

8. Write the compounds of aluminium with the
following elements

Oxygen , Sulphur, Nitrogen.


https://dl.doubtnut.com/l/_NoHLc5hdCGhn
https://dl.doubtnut.com/l/_R6Wyll9wfKrD

° Watch Video Solution

9. Complete the following table.

(@) Sodium " - -
hydroxide

Glucose —

(©)

° Watch Video Solution



https://dl.doubtnut.com/l/_R6Wyll9wfKrD
https://dl.doubtnut.com/l/_HNIStdNb6vQn
https://dl.doubtnut.com/l/_rQlfeB7LBXyS

10. Calculate the ratio of the number of atoms
of the first elements to the last elements in

the formulae of the following compounds

Lo

o View Text Solution

11. Classify the following into solids and liquids
Glucose, Vinegar Nitric acid , Sodium

hydroxide, Baking soda and Sugar.

o Watch Video Solution



https://dl.doubtnut.com/l/_rQlfeB7LBXyS
https://dl.doubtnut.com/l/_2QQdybA2cfus

12. Match the following

olumnA ColumnB

(A) 3SO, () (a) Fouratoms of oxygen

B) 7CO @ Ly Eight aton'}s.wof 6xygen
C) 20, () (o) Sixatoms of oxygen
®) 2H,8@, () (d) Five atoms of oxygen
(E) 5H,O () (e Twelve atoms of

' o (399 .
HENO, 00 A

o Watch Video Solution



https://dl.doubtnut.com/l/_ubmDLykgSg79

13. Match the following

Elements !.ntmnme
A) Sodium  (a) Stannum (i) Sn
(B) Iron

(C) Gold

ff:}}'iff

(¢) Plumbum (v) Au

° Watch Video Solution

14. Write the symbols for the following
elements.
(a) Boron (b) Sulphur

(c) Argon (d) Calcium

| = |


https://dl.doubtnut.com/l/_mmBTZ1qwgOp8
https://dl.doubtnut.com/l/_ho6Hf8WLbhkX

I U Watch Video Solution

15. Give two example for the following

A. fast changes

B. Desirable changes

C. non- periodic changes

D. Physical changes

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ho6Hf8WLbhkX
https://dl.doubtnut.com/l/_80Rttw60lZwH

16. Define the following: Chemical change,
Reversible change, Periodic change physical

change

o Watch Video Solution

17. Classify the following changes as reversible

and irrefversible changes.


https://dl.doubtnut.com/l/_g3YwSWhbc0C6
https://dl.doubtnut.com/l/_cui1Ug1ynuUY

.

— Jest tube-A 4 Tast tube-B

-Wax

¢ Burner

W

A. Burning of candle

B. Glowing of bulb

C. Freezing of water

D. Curdling of milk


https://dl.doubtnut.com/l/_cui1Ug1ynuUY

Answer:

o View Text Solution

18. Analyse the above diagrams and answer
the following questions.

(@) Identify the test tube (s) in which new
substance (s) is / are formed.

(b) Does the composition change in all the
test tubes ? Give reasons .

(C ) Identify the colour changes associated

with the relevant physical change given.



https://dl.doubtnut.com/l/_cui1Ug1ynuUY
https://dl.doubtnut.com/l/_GlzlEoJ6afFq

[ o View Text Solution

19. State three differences between a physical

change and a chemical change.

o Watch Video Solution

20. Give reasons for the following
(@) When magnesium is burnt in air the weight
of white ash obtained is more than

magnesium metal.


https://dl.doubtnut.com/l/_GlzlEoJ6afFq
https://dl.doubtnut.com/l/_byGBUWPndqS4
https://dl.doubtnut.com/l/_7sCX6Tmgeaz5

(b) The weight of rusted iron is more than that

of the original metal.

o Watch Video Solution

21. Classify the following into physical and
chemical changes.

(a) Expansion of metals on heating

(b) Crystallization of salts from their solutions
(C) Blackening of silverware

(d) Ripening of fruits


https://dl.doubtnut.com/l/_7sCX6Tmgeaz5
https://dl.doubtnut.com/l/_STzbtuiLHWRP

(E ) Cooking of food

(F) Melting of ice

° Watch Video Solution

22. (a) Identify the products formed.

(B) Observe the following figure and identify


https://dl.doubtnut.com/l/_STzbtuiLHWRP
https://dl.doubtnut.com/l/_1fRNA4eUEW4e

the change associated with it .

Beakar

( C) Name the product formed in the following

change
(3 (3
- Tast tube
o0
0% o >
Sugar —48%°|  Heating .ot
crystals @ -*""’P"’d“'c

o Watch Video Solution



https://dl.doubtnut.com/l/_1fRNA4eUEW4e
https://dl.doubtnut.com/l/_AgxxVurpxgg5

| Additionof 1}
"2 common salt }: Heating |
et —_—

Case-2 Case-3 | oo
— Water “4— Salt \CI\ :’
= solution ?~
Case-4 |
Addition of a Common
salt

few iron nails

Iron nails

23.

Explain the type of changes involved in

above chart.

the

° Watch Video Solution

24. Study the diagram given below and answer

the following questions.


https://dl.doubtnut.com/l/_AgxxVurpxgg5
https://dl.doubtnut.com/l/_E9ZkvYeVuR8I
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(a) Does the composition remain the same
(b) Name the type of change involved .
(c ) Write any two characteristics of the above

change.

° Watch Video Solution



https://dl.doubtnut.com/l/_E9ZkvYeVuR8I
https://dl.doubtnut.com/l/_YpJX13NbRQMA

25. A desirable change is always associated

with an undesirable change. Give as example.

o Watch Video Solution

Concept Application

1. Arrange the following compounds in the
increasing order of the number of oxygen
atoms in one molecule.

Glucose ,sugar, baking ,soda,sand, sulphuric,

acid


https://dl.doubtnut.com/l/_YpJX13NbRQMA
https://dl.doubtnut.com/l/_exNVFypDmWFP

A. Glucose < sugar < baking soda <

sand < sulphuric acid

B.Sugar < glucose < baking soda <

sand < sulphuric acid

C.sand < baking soda < sulphuric acid

< glucose < sugar

D. Glucose < sulphuric acid < sugar <

baking soda < sand

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_exNVFypDmWFP

2. Bursting of cracker is a and

change,

A. physical [fast

B. chemical , fast

C. chemical ;slow

D. physical, slow

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_exNVFypDmWFP
https://dl.doubtnut.com/l/_VHZRoRRFFfgz

3. Identify the incorrect formulae among the

following : (A) C'aO5 (B) NasO

(C) MgsS, (D) Mg,O

A. AB,D

B.ACD

C.CDE

D.B,C,D

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ySp2WpR6ziRA

4. Match the following

- Column B
Constituents
Present

(A) Marble () (a) Sodium, carbon,

o Watch Video Solution

5. What type of change is formation of coal ?

e, Desirable Reversible Slow Periodic
Option Change Change Change Change



https://dl.doubtnut.com/l/_lyPHoFvkOBMK
https://dl.doubtnut.com/l/_fO4RXfSBRPlv

QL‘MJ”‘” A

Name
of the
Compound
) Nitncaad () (¢) Calcium, carbon,
oxygen

(E) Washing () (e) Copper, sulphur,
soda hydrogen, oxygen

AA—e B—d,C—a,D—c,E—-0b
BA—c,B—d,C—e,D—-bFE —a
CA-bB—-e¢,C—a,D—c,E—d

DA—¢,B—d,C—-b,D—¢e,F—a

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_fO4RXfSBRPlv

6. Arrange the following compounds in the
increasing order of the number of oxygen
atoms in one molecule.
Glucose ,sugar, baking ,soda,sand, sulphuric,
acid
A. Glucose < sugar < baking soda <
sand < sulphuric acid

B.Sugar < glucose < baking soda <

sand < sulphuric acid


https://dl.doubtnut.com/l/_fO4RXfSBRPlv
https://dl.doubtnut.com/l/_DafuC5yw2iv0

C.Sand < baking soda < sulphuric acid

< glucose < sugar

D. Glucose < sulphuricacid < sugar <

baking soda < sand

Answer: C

o Watch Video Solution

7. Bursting of cracker is a and

change,


https://dl.doubtnut.com/l/_DafuC5yw2iv0
https://dl.doubtnut.com/l/_dOc6XQFaOxBd

A. physical, fast

B. chemical, fast

C. chemical, slow

D. physical, slow

Answer: B

o Watch Video Solution

8. Identify the incorrect formulae among the

following:

(A) Ca02 (B) NCIQO


https://dl.doubtnut.com/l/_dOc6XQFaOxBd
https://dl.doubtnut.com/l/_UuPOQaiRjvGi

(C) MgsS, (D) Mg,O

(E) CaS

A A B,D

B.A,C,D

C.G D, E

D.B,C,D

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UuPOQaiRjvGi

9. Match the following:

Column A
Name Column B

of the Constituents
Compound Present

(A) Marble () (a) Sodium, carbon,
oxygen, hydrogen

(B)  Vinegar () (b) Nitrogen,
hydrogen, oxygen

Column A
Name Column B

of the Constituents
Compound Present

((C) Nwric acad {) (c) Calewum, carbon.
oxvgen
(D) Blue vitriol () (d) Carbon,
hydrogen, oxygen
(E) Washing () (e Copper, sulphur,
soda hydrogen, oxvgen

o Watch Video Solution



https://dl.doubtnut.com/l/_EyHIgoBvAJFF

10. What type of change is formation of coal?

_ Desirable Reversible Slow Periodic
Option Change Change Change Change
(a) v X v X
) x v v x
(€) v X v x

(@ % x x =4

° Watch Video Solution

Assessment Test

1. Name the elements with the following

symbols.

(@) C(b) N (c) Si(d) Br


https://dl.doubtnut.com/l/_vl3vqyJagx6G
https://dl.doubtnut.com/l/_eNJ6vmX4hBDJ

(e) CI(f) Ag (g) W (h) Hg

(1) Co (j) Cr

° Watch Video Solution

2. Complete the following table

Number of atoms  Name of molecules

° Watch Video Solution



https://dl.doubtnut.com/l/_eNJ6vmX4hBDJ
https://dl.doubtnut.com/l/_kko6aUblqS07

3. Match the followign based on the number

of atoms present in one molecule.

(A) Carbon dioxide () (a) Ferrous sulphide

(C) Aluminium () (c) Copper sulphate
chloride

(E) Sodium () (e) Phosphorous
carbonate ©acid

o Watch Video Solution



https://dl.doubtnut.com/l/_RLn5ZuGtSguG

4. Write the formulae of compounds with the

following information and the names of the

molecules.

A. 2 phosphorus atoms 5 oxygen atoms.

B.1 calcium atom 2 oxygen atoms 2

hydrogen atoms.

C.1 iron atom ,1 sulphur atom, 4 oxygen

atoms.

D. lpotassium atom, 1 chlorine atom 3

oxygen atoms


https://dl.doubtnut.com/l/_SfXyIBBneFQv

Answer:

o Watch Video Solution

5. Find the odd one out among the following

sets give reasons.

A. Nitrogen fluorine , oxygen , hydrogen ,

ozone.

B.CaO, NaClI, Co, FeS, KNOs

C.Se, K, Cu, Pb, ST


https://dl.doubtnut.com/l/_SfXyIBBneFQv
https://dl.doubtnut.com/l/_75TaLthmIgqt

D. Bromine , iodine ,carbon ,sulphur, silicon

Answer:

° Watch Video Solution

6. Identify true or false statements among the

following and rewrite the correct statements.

A. An elements is made up of many kinds of

atoms

B. 30, contains six atoms of oxygen.


https://dl.doubtnut.com/l/_75TaLthmIgqt
https://dl.doubtnut.com/l/_JQuuTNQx8BCr

C. One molecule of calcium oxide contains

three atoms,

D. formula of nitrogen dioxide is NO,

Answer:

o Watch Video Solution

7. ldentify the correct statements from the

following

A. Symbol of copper is Co


https://dl.doubtnut.com/l/_JQuuTNQx8BCr
https://dl.doubtnut.com/l/_j0B6J3DdrfgU

B. Silicon is a liquid

C. The German name of tin is stannum

D. Blue vitriol is CuSO,.6 H,O

Answer:

o Watch Video Solution

8. ldentify true or false statements among the

following

A. Germinations is a fast change.


https://dl.doubtnut.com/l/_j0B6J3DdrfgU
https://dl.doubtnut.com/l/_eInHCrqoxP1J

B. Melting is an irreversible change.

C. Water cycle involves chemical change.

D. Beating of heart is a periodic change.

Answer:

o Watch Video Solution

9. Are all chemical changes desirable changes ?

Justify with at least five example.

° Watch Video Solution



https://dl.doubtnut.com/l/_eInHCrqoxP1J
https://dl.doubtnut.com/l/_4dA3GowgFQXf

10. (a) Identify the test tube(s) in which a
chemical change take place.
(b) Does the molecular composition remain

the same in all the test tubes?

Common sait Sugar Caicium omde
- f.'-'—-—
I * | | »
= ==
%' 4 bl
' |
Water Water ‘Water
Test tube-A Test tube-B Test tube-C

o Watch Video Solution



https://dl.doubtnut.com/l/_lsziQ9MJrzsZ

11. Identify the physical and chemical changes

among the following

A. Preparation of liquefied petroleum gas

B. Usage of liquefied petroleum gas

C. Formation of manure

D. Formation of glass

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3pFxXiHq8zpn
https://dl.doubtnut.com/l/_Pgb10YrnvUq3

12. In which among the following changes,
does the molecular composition remain the
same? Justify.

(a) Photosynthesis (b) Digestion of food

(c ) Formation of clouds (d) Moulding of glass

(e) Melting of butter (f) Perspiration

o Watch Video Solution



https://dl.doubtnut.com/l/_Pgb10YrnvUq3
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Analyse the observation of the above

experiments

o Watch Video Solution

14. Classify the following into different

changes.


https://dl.doubtnut.com/l/_fvyp38tyabqv
https://dl.doubtnut.com/l/_Ipe67WM0Wwyo

(a) Making of dough from flour

(b) Digestion of food

(c ) Germination of seeds

(d) Burning of paper

A. Making of dough from flour

B. Digestion of food

C. Germination of seeds

D. Burning of paper

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ipe67WM0Wwyo

15. Study the diagrams and make a comment

on the type of changes.

-3 e Test tube

4= Candle

o Watch Video Solution

Crossword


https://dl.doubtnut.com/l/_Ipe67WM0Wwyo
https://dl.doubtnut.com/l/_RTX5e5IrpjyF

Aci

D T S

13.

ross

. 2S represents two atoms of

. Change of weather from winter to summer
. Latin name of lead

. Washing soda

. Latin name of mercury

. Phases of moon

The number of hydrogen atoms in two molecules
of methane

. Blue vitriol

Down
1. The number of atoms present in one molecule of

nitric acid
2. Baking soda
3. The name of element with symbol Mn is
5. The change involved in the heating of zinc oxide
6. The name of the compound Pbs
8. Burning of coal

10. The number of oxygen atoms present in on<
molecule of silver nitrate

o View Text Solution



https://dl.doubtnut.com/l/_PouuCRx9AUyh

Across Down

15 represents two atoms of 1. The number of stoms present i one molecule of

b

. i acwd
4. Change of weather from winker o samimer
7. Latin name of lead

1. Baking sodas
‘ 3. The name of element with symbod Mn n

9. Washing soda
5. The change wvolved n the heanng of minc oxide
11, Labin narme of menoury

12, Phases of moon ‘ 6. The name of the compound Pl

" ) g o coal
13, The mmber of hydrogen stoms in two molecules Burmng of

of methane 10. The number of avvgen atoin pressnt moone

mobecule of dbver mitrate

14, Blue winiol |

o View Text Solution



https://dl.doubtnut.com/l/_1fxFh8lOzfd7

Test Your Concepts Very Short Answer Type

Questions Fill In The Blanks

1. The symbol of magnesium is

o Watch Video Solution

2. The smallest and ultimate particle of an

element is called

o Watch Video Solution



https://dl.doubtnut.com/l/_wqlBuyNqCG90
https://dl.doubtnut.com/l/_mboMsioI23fy

3. Atoms of (or) can be regarded

as molecules.

o Watch Video Solution

4. The number of atoms in one molecule of

oxygen is

o Watch Video Solution



https://dl.doubtnut.com/l/_ouU8j3e3n1pE
https://dl.doubtnut.com/l/_nBExVazL15dK

5. Three atoms of chlorine are represented as

o Watch Video Solution

6. Formula for hydrochloric acid is

o Watch Video Solution

7. The number of oxygen atoms in one

molecule of sulphur trioxide is



https://dl.doubtnut.com/l/_8myqtRIk74kv
https://dl.doubtnut.com/l/_nIgrB52vbk6k
https://dl.doubtnut.com/l/_aJzI1F3AiGRX

o Watch Video Solution

8. The Latin name of potassium is

o Watch Video Solution

9. A change which can be reversed is called

change.

o Watch Video Solution



https://dl.doubtnut.com/l/_aJzI1F3AiGRX
https://dl.doubtnut.com/l/_Bu8PySAoS1Dk
https://dl.doubtnut.com/l/_q8Vx9rFwlb1H

10. Swinging of clock pendulum is a

change.

o Watch Video Solution

11. Rusting of iron is a change .(periodic,

non- periodic , desirable)

o Watch Video Solution



https://dl.doubtnut.com/l/_0k7sVKkHupHl
https://dl.doubtnut.com/l/_BTjn9sqaiwrI

12. Magnetization of iron is a

change. (physical, chemical, irreversible).

o Watch Video Solution

13. Burning of coal is a change.

(physical, chemical)

o Watch Video Solution

Test Your Concepts Very Short Answer Type

Questions Select The Correct Alternative From



https://dl.doubtnut.com/l/_418XzxrVMdH3
https://dl.doubtnut.com/l/_7S7SFWx6CNPE

The Given Options

1. the symbol of manganese is

A. Mn

B.M

C. Ma

D. Mg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0cSOeCEKKj9t
https://dl.doubtnut.com/l/_NYSt2f9Gn65P

2. The symbol of which among the following

elements is derived from it s Latin name ?

A. Zinc

B. Aluminium

C.lron

D. Calcium

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NYSt2f9Gn65P

3. One molecule of which among the following

elements possesses the maximum number of

atoms?

A. Ozone

B. Sulphur

C. Chlorine

D. Nitrogen

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K54DJC2D3uVE

4. Which among the following molecules

possesses the maximum number of oxygen

atoms?

A. Carbon dioxide

B. Nitric acid

C. Sulphur acid

D. Calcium oxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oGeqs3TTAY9y

5. Which among the following contains

atoms of oxygen?

A. 6 molecules of calcium oxide

B. 6 moelcules of water

C. 3 molecules of sodium bicarbonate

D. 4 molecules of calcium carbonate

Answer: D

12

o Watch Video Solution



https://dl.doubtnut.com/l/_c38wIgMrrlb2
https://dl.doubtnut.com/l/_lSi7y4W4GFXM

6. Identify the incorrect formula among the

following.

B.ZnO

C.Cao

D. SO;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lSi7y4W4GFXM

7. The Latin name of silver is

o Watch Video Solution

8. Identify a chemical change among the

following.

A. Production of sound

B. Magnetization of iron

C. Curdling of milk

D. Melting of ghee


https://dl.doubtnut.com/l/_52WJZ7ICvKyD
https://dl.doubtnut.com/l/_tlEH0bmaFyDW

Answer: C

o Watch Video Solution

9. An example of non-perodic change is

A. Change of seasons

B. Phases of moon

C. Beating of heart

D. Earthquakes

Answer: D


https://dl.doubtnut.com/l/_tlEH0bmaFyDW
https://dl.doubtnut.com/l/_PYuuWRn0bdnX

° Watch Video Solution

10. Bursting of cracker is a

change,

A. chemical, fast

B. chemical, slow

C. physical, fast

D. physical, slow

Answer: A

and

| 8



https://dl.doubtnut.com/l/_PYuuWRn0bdnX
https://dl.doubtnut.com/l/_XMie5tf8cg9G

1. The burning of candle is a

change.

A. Periodic and irreversible

B. Reversible and chemical

C. Non-periodic and reversible

D. Chemical and irreversible

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XMie5tf8cg9G
https://dl.doubtnut.com/l/_U0bnUmuwRhbF

12. Identify a true statement among the

following.

A.In a physical change composition

changes

B. Chemical change can easily be reversed

C. Physical change is a temporary change

D.In a chemical change no new

substance(s) is/are formed


https://dl.doubtnut.com/l/_U0bnUmuwRhbF
https://dl.doubtnut.com/l/_Fu51kq9yFJsX

Answer: C

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

1. Define the following.

Atom

o Watch Video Solution



https://dl.doubtnut.com/l/_Fu51kq9yFJsX
https://dl.doubtnut.com/l/_898kjB2NSgEW

2. Define the following.

Molecule

o Watch Video Solution

3. Define the following.

Symbol

o Watch Video Solution



https://dl.doubtnut.com/l/_hiJ9KrB3YWKm
https://dl.doubtnut.com/l/_Cs646qLuoakQ

4. Define the following.

Formula

o Watch Video Solution

5. Write the formulae for the following.

(a) Ozone (b) Phosphorus (c) Neon

o Watch Video Solution



https://dl.doubtnut.com/l/_nDY08SNXtfIj
https://dl.doubtnut.com/l/_j01ThSHZFLl4

6. Write the names of the elements with the

following symbols.

A. Fe

B.Zn

C. Al

D.C

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Po4sgs4YPDbD
https://dl.doubtnut.com/l/_WgnmZjRYonSG

7. Represent the following in terms of their

formulae.

(a) 5 atoms of sodium

(b) 3 molecules of hydrochloric acid

(c ) 4 molecules of hydrochloric acid
(d) 10 moleculesof carbon monoxide

(e) 2 molecules of nitrogen dioxide

o Watch Video Solution

8. Molecules of some elements and

compounds are given below.

Identify


https://dl.doubtnut.com/l/_WgnmZjRYonSG
https://dl.doubtnut.com/l/_i9Xg7HzZwuvr

hydrogen, hydrogen chloride, water, carbon
dioxide, carbon disulphide, carbon

tetrachloride.

(a) _;”_"O

o Watch Video Solution

9. Write the formulae of different compounds

formed among the given elements.


https://dl.doubtnut.com/l/_i9Xg7HzZwuvr
https://dl.doubtnut.com/l/_nfb8szEQOzkU

Element Combining power

Ca 2
O 2
Fe 3
S 2
Na 1

o Watch Video Solution

10. Identify the combining power of the

elements present in the following compounds

A AyB

B. X,Y;

C. DE,


https://dl.doubtnut.com/l/_nfb8szEQOzkU
https://dl.doubtnut.com/l/_VXR4uXfGmRH5

D. G5 H,

Answer:

o Watch Video Solution

11. Write the compounds of aluminiium with
the following elements.

Oxygen, Sulphur, Nitrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_VXR4uXfGmRH5
https://dl.doubtnut.com/l/_V8dxubJSlRTz

12. Complete the following table.

Total number

of atoms in

Molecule Elements one molecule
(a) Sodium - _
hydroxide
(b) Calcium - &
carbonate
(c) Methane - _
(d) Nitrogen dioxide = "
(e) Glucose . _
(f) Baking soda - v
(&) Silicon dioxide - _
(h) Vinegar - o
(i) Sugar - ~

o Watch Video Solution



https://dl.doubtnut.com/l/_DCsj6gR1UkvY

13. Identify the incorrect formulae and correct
them.

(a) CaO, (b) Mgy Ss

(c) FeO5 (d) PbO

(e) CasS, (f) PbS

(8) Zn20 (h) FesS

o Watch Video Solution

14. Calculate the ratio of the number of atoms

of the first element to the last in the formulae


https://dl.doubtnut.com/l/_EnB2l3nQOsDJ
https://dl.doubtnut.com/l/_6MrWCCPlyDVo

of the following compounds.
(a) Common salt (b) Chalk
(c ) Nitric acid (d) Ammonia

(e) Hydrogen sulphide (f) Sugar

° Watch Video Solution

15. Classify the following into solids and
liquids Glucose, Vinegar Nitric acid , Sodium

hydroxide, Baking soda and Sugar.

° Watch Video Solution



https://dl.doubtnut.com/l/_6MrWCCPlyDVo
https://dl.doubtnut.com/l/_HGGpNlYiZsbt
https://dl.doubtnut.com/l/_Xto4Ohza5oOI

16. Match the following:

Column A Column B
(A) 350, () (a) Four atoms of oxygen

e P ol

| 3 - ( | ) Six tu ofuxygrn |

(E) 5H,0 () (¢) Twelve atoms of
oxygen

o Watch Video Solution



https://dl.doubtnut.com/l/_Xto4Ohza5oOI

17. Match the following:

¥
Elements Latin name Symbol

(A) Sodium  (a) Stannum (1) Sn
(B) Iron (b) Natrium (1) Pb
(C) Gold (c) Ferrum (m) Na
(D) Lead (d) Aurum (iv) Fe
(E) Tin (e) Plumbum (v) Au

o Watch Video Solution

18. Write the symbols for the following
elements.
(a) Boron (b) Sulphur

(c) Argon (d) Calcium


https://dl.doubtnut.com/l/_nLi9GmC2JJMr
https://dl.doubtnut.com/l/_bKd9JZTUl1o5

(e) Selenium (f) Copper

(g) Lead (h) Barium

° Watch Video Solution

19. Give two examples for the following.
(a) Fast changes

(b) Desirable changes

(c ) Non-periodic changes

(d) Physical changes

(e) Chemical changes

o Watch Video Solution



https://dl.doubtnut.com/l/_bKd9JZTUl1o5
https://dl.doubtnut.com/l/_YkJpTDo6urXV

20. Define the following.

Chemical change

° Watch Video Solution

21. Define the following.

Reversible change

o Watch Video Solution



https://dl.doubtnut.com/l/_YkJpTDo6urXV
https://dl.doubtnut.com/l/_ppVpARl3NQv0
https://dl.doubtnut.com/l/_t15yY7zKJkfJ

22. Define the following.

Periodic change

o Watch Video Solution

23. Define the following.

Physical change

o Watch Video Solution



https://dl.doubtnut.com/l/_hZV2YlIWRPvc
https://dl.doubtnut.com/l/_Klg62EdjFYZw

24, Classify the following changes as reversible
and irreversible changes.

(a) Burning of candle

(b) Glowing of bulb

(c ) Freezing of water

(d) Curdling of milk

(e) Burning of paper

(f) Magnetization of iron

o Watch Video Solution



https://dl.doubtnut.com/l/_jNPnnCHnSeTK

25.

——
T

]-l— Test tube-B

N\ %

L. — Zinc oxide

%.— -


https://dl.doubtnut.com/l/_Xt43WOcMJ3L4

— Test tube-C

u~ Mercuric oxide

V%

-y
Analyse the above diagrams and answer the
following questions.

Identify the test tube(s) in which new

substance(s) is/are formed.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xt43WOcMJ3L4
https://dl.doubtnut.com/l/_4S7G6lEA7kFS

26.

@ v

W
g
g

+— Test tube-A ﬂf Test tube-B

Zinc oxide

%.— -

+— Test tube-C

%

d—Mﬂwﬂc oxide


https://dl.doubtnut.com/l/_4S7G6lEA7kFS

Analyse the above diagrams and answer the
following questions.
Does the composition change in all the test

tubes? Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_4S7G6lEA7kFS

e e

+—— Test tube-A ]-— Test tube-B

«— Zinc oxide

@ -
N\

% — Bumer ‘%._am

27.
— Test tube-C

ww oxide

s


https://dl.doubtnut.com/l/_XLfP1EZ9RNwg

Analyse the above diagrams and answer the
following questions.
Identify the colour changes associated with

the relevant physical change given.

o Watch Video Solution

28. State three differences between a physical

change and a chemical change.

o Watch Video Solution



https://dl.doubtnut.com/l/_XLfP1EZ9RNwg
https://dl.doubtnut.com/l/_ijIg36CjdvQF

29. Classify the following into physical and
chemical changes.

(a) Expansion of metals on heating

(b) Crystallization of salts from their solutions.
(c ) Blackening of silverware

(d) Ripening of fruits

(e) Cooking of food

(f) Melting of ice

o Watch Video Solution



https://dl.doubtnut.com/l/_pgy5DIUqpfSQ

30. (a) Identify the products formed.

F
(\L

L
Pt
I

Candle burning

— [Irl du

(b) Observe the following figure and identify

the change associated with it.

_—

'-— Beaker



https://dl.doubtnut.com/l/_NYGnteIF5J92

(c ) Name the product formed in the following

change.

o2°
% o _ .
o5
Sugar ——I-§§%‘: Heating
crystals ‘209 - Product

o Watch Video Solution



https://dl.doubtnut.com/l/_NYGnteIF5J92

B

[QQ

g
g

31.

Explain the type of changes(physical/chemical)

involved in the above chart.

° Watch Video Solution

32. Study the diagram given below and answer

the following questions.


https://dl.doubtnut.com/l/_3DvDbtpVD4hZ
https://dl.doubtnut.com/l/_aOoaGCoCmKjb

==/ &=
Heat L,_ :
L | R~ R b
S22 | s
8352 Etei
o S = I_—P'I =
|
loe

(a) Does the composition remain the same?
(b) Name the type of change involved.
(c ) Write any two characteristics of the above

change.

o Watch Video Solution



https://dl.doubtnut.com/l/_aOoaGCoCmKjb

33. A desirable change is always associated

with an undesirable change. Give as example.

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

Give Reason For The Following

1. When magnesium is burnt in air, the weight
of white ash obtained is more than

magnesium metal.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_X6nrcN3F4tjv
https://dl.doubtnut.com/l/_7OZD78sMaNbX

2. The weight of rusted iron ismore than that

of the original metal.

o Watch Video Solution

Assessment Test Test 1

1. Name the elements with the following

symbols.

(@) C(b) N (c) Si(d) Br


https://dl.doubtnut.com/l/_7OZD78sMaNbX
https://dl.doubtnut.com/l/_ccmR9ZszVCER
https://dl.doubtnut.com/l/_Ln1b6papeBRo

(e) CI(f) Ag (g) W (h) Hg

(1) Co (j) Cr

A C

B.N

C.Si

D. Br

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Ln1b6papeBRo

2. Complete the following table.

Molecules Names of elements
I NaOH

Number of atoms Name of molecules

= 16 Ammonia
Sodwm, hydrogen. carbon, oxygen 12

3H,50, =

° Watch Video Solution

3. Match the following based on the number

of atoms present in one molecule.


https://dl.doubtnut.com/l/_GecL2NnVhZjI
https://dl.doubtnut.com/l/_3W2J5wAo1ZXe

Column A Column B
(A) Carbon dioxade () (a) Ferrous sulphide

(C) Aluminium (} (¢) Copper sulphate
chloride

(E) Sodium () (¢} Phosphorous
carbonate acd

o Watch Video Solution

4. Write the formulae of compounds with the
following information and the names of the
molecules.

(a) 2 phosphorus atoms, 5 oxygen atoms.


https://dl.doubtnut.com/l/_3W2J5wAo1ZXe
https://dl.doubtnut.com/l/_ECSZshekR5eu

(b) 1 calcium atom, 2 oxygen atoms, 2
hydrogen atoms.

(c ) 1 iron atom, 1 sulphur atom, 4 oxygen
atoms.

(d) 1 potassium atom, 1 chlorine atom, 3
oxygen atoms.

(e) 3 sodium atoms, 1 phosphorus atom, 4

oxygen atoms.

° Watch Video Solution



https://dl.doubtnut.com/l/_ECSZshekR5eu

5. Find the odd one out among the following
sets. Give reasons.

(@) Nitrogen, fluorine, oxygen, hydrogen,
ozone.

(b) Ca0, Nacl, Co, FeS, KNOs

(c) Se, K, Cu, Pb, SI.

(d) Bromine, iodine, carbon, sulphur, silicon.

o Watch Video Solution



https://dl.doubtnut.com/l/_A6xJlzwbaLSy

6. Identify the correct statement from the
following.

(a) Symbol of copper is Co

(b) Silicon is a liquid

(c ) The German name of tin is stannum

(d) Blue vitriol is CuSO,. 6H,0

(e) Formula of magnesium sulphide is Mg,S

o Watch Video Solution



https://dl.doubtnut.com/l/_0R7VtIpzvrLU

7. Are all chemical changes desirable changes?

Justify with at least five examples.

o View Text Solution

8. (a) Identify the test tube(s) in which a
chemical change take place.

(b) Does the molecular composition remain


https://dl.doubtnut.com/l/_ofQfNfY0QhAJ
https://dl.doubtnut.com/l/_7IxbNmg0YBRX

the same in all the test tubes?

Common sait Sugar Caicium omde
- 15 -
[ |
v L
; :'3'3':':"-5- e |
= ==
b = EE
‘% | # =7
Water Water Water
Test tube-A Test tube-B Test tube-C

o Watch Video Solution

9. Identify the physical and chemical changes
among the following.
(a) Preparation of liquefied petroleum gas

(b) Usage of liquefied petroleum gas


https://dl.doubtnut.com/l/_7IxbNmg0YBRX
https://dl.doubtnut.com/l/_QhQ3EQOp9aWE

(c ) Formation of manure
(d) Formation of glass

(e) Breaking of glass

° Watch Video Solution

10. In which among the following changes,
does the molecular composition remain the
same? Justify.

(a) Photosynthesis (b) Digestion of food

(c ) Formation of clouds (d) Moulding of glass

(e) Melting of butter (f) Perspiration

| e |


https://dl.doubtnut.com/l/_QhQ3EQOp9aWE
https://dl.doubtnut.com/l/_yv7AQO1as1T0

& Wwatch Video Solution ]

w1

|
e
__,O'_,_ Sun
f." "\.-

Sugar solution
T

11. Case-1

Analyse the observation of the above

experiments.

o Watch Video Solution



https://dl.doubtnut.com/l/_yv7AQO1as1T0
https://dl.doubtnut.com/l/_EHzxppzR4rVD

12. Classify the following into different
changes.

(a) Making of dough from flour

(b) Digestion of food

(c ) Germination of seeds

(d) Burning of paper

o Watch Video Solution

13. Study the digrams and makes a comment

on the type of changes.


https://dl.doubtnut.com/l/_l3DUWJsvfWpT
https://dl.doubtnut.com/l/_3ZoSDyAWxX6X

Candie

)
+— Test tube
l_.l;
/
/

%ZQ
JL 4

o Watch Video Solution

Assessment Test Test 1 Identify True Or False

Statements Among The Following Rewrite The

Correct Statements



https://dl.doubtnut.com/l/_3ZoSDyAWxX6X

1. An element is made up of many kinds of

atoms.

o Watch Video Solution

2. 30, contains six atoms of oxygen.

o Watch Video Solution

3. One molecule of calcium oxide contains

three atoms.



https://dl.doubtnut.com/l/_hnZjVOi6Z4o8
https://dl.doubtnut.com/l/_35MAeyLdEK6o
https://dl.doubtnut.com/l/_vk6SITVVZF1W

o Watch Video Solution

4. Formula of nitrogen dioxide is NO,.

o Watch Video Solution

5.In Fe503, the combining power of iron is 2

and that of oxygen is 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_vk6SITVVZF1W
https://dl.doubtnut.com/l/_ozqTRQ2lPFzF
https://dl.doubtnut.com/l/_Ne88MEun9V5g

Assessment Test Test 1 Identify True Or False

Statements Among The Following

1. Germination is a fast change. (True / False)

o Watch Video Solution

2. Melting is an irreversible change.

o Watch Video Solution



https://dl.doubtnut.com/l/_ExBMMburOqed
https://dl.doubtnut.com/l/_Jffu5wegt040

3. State True or False

Water cycle involves chemical change.

o Watch Video Solution

4.Beating of heart is a periodic change. ( True

/ False)

o Watch Video Solution



https://dl.doubtnut.com/l/_loguUL1IVNbb
https://dl.doubtnut.com/l/_LbxK8W58uWoA

5. High and low tides at sea are a periodic

change. (True / False)

o Watch Video Solution



https://dl.doubtnut.com/l/_bjJGK5lLk6Id

